








Recap: What Uy the bus stop method? ly it o formal
or uinformal metivod? Can yow gwe me an examgple?

Quotient
| | |
Divisor ——
T Try and label the different parts. Divid ‘ y
- (amswers are o thhe next page) — R



Recap: What i the buy stop metinod? Iy U a formal
or informal metivod? Can yow guwe me an example? -

Quotient

Divisor

Dividend

Formal method
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Try to lay this question out in Hhe formal method
below: Con yow also- label the different ports?

(guotient; divisor and diniodend) Yow can alwoys

wse place value covuntery to- help you
|




23 * 4 = Try to- lay tHis guestion out un the formal metirod |
° - T belows Can yow also- label the different ports?

(guotient; divisor and diniodend) Yow can alwoys
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96 + 4 = e







+———1. NUMBER SENTENCE

To- wse o formal metrod we wourldd lay owt Hre guestion Uke Hils... |
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—2. Show me how yow partihioned

PA RTITION

DIVIDE ]

ADD




Whew yow are doing youwr guestions, layout your work like tiis:

+———1. NUMBER SENTENCE

2. Show me how yow partitioned
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. 78 cones are divided equally across 6 lanes.

I wonder if
could partition
78 in more
than one way.

How many cones are in each lane? @
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There are D cones in each lane.

o a) 56 bean bags have been used. There is an equal number of bean o There are 76 children at the junior sports day.
bags in each lane. How many bean bags are in each lane? -

There are 4 teams.

b) There is a bean bag every 10 metres in each lane.
How far is the furthest bean bag away from the start line? —
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ How many children are in each team?

Each team has the same number of children.
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a) There are 56 bean bags altogether.

There are 4 running lanes.

50.56 + 4 =14
There are 14 bean bags in each lane.

b) The first bean bag is 10 metres away from the start line.

The bean bags are then 10 metres apart.
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There are 14 bean bags in each lane.
There is one bean bag every 10 metres.
14 x 10 = 140

The furthest bean bag is 140 metres
away from the start line.

I thought the answer
was 130 metres. I put
the first bean bag at
the start.
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o 78 cones are divided equally across 6 lanes.

How many cones are in each lane?

50,78+ 6=

There a nes in each lane.

o There are 76 children at the junior sports day.

There are 4 teams.
Each team has the same number of children.

How many children are in each team?
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" I wonder if I

could partition
78 in more
than one way.




